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17 HEZ i 65 11. 14 H F3h 0.08 1000
18 | ®EHR | « 73 11.14 H R 0.4 1000
19 | RELEZ % 59 11. 14 I 0.15 0.8 1000
20 | KER | & 62 11.14 Vi ek 0.6 1000
21 | JMEE L 76 11. 14 H 0.1 0.5 1000
22 | ME% L 73 11. 14 H 0.25 0.6 1000
23 | B 5 90 11. 14 H R 0.08 1000

BEAN: THE

LA EHA:2015 4 11 A 14 H




A “HBE

XERE AR

HERAL: R B RN RIS =

- TREMS” BH AR

BB AR T B B B e

Feg | e | M| R | FORIE | FRIE | RATH | REMTI B4
L | s | B 71 11.28 H 0.2 0.6 1000
2 | BhRER | B 53 11.28 Vi3 F3 1.0 1000
3| RNE | & 72 11.28 " 0.1 0. 4 1000
4 | FPm | 5 58 11.28 Vi 0.15 0.5 1000
5 | FTE | L 81 11.28 Vi 0. 25 0.8 1000
6 | FR¥E | « 71 11.28 Vi 0.2 0.8 1000
7| FARED | 5 60 11.28 Y F3h 0.6 1000
8 | MER | X« 75 11.28 ya) 0. 06 0.5 1000
9 | #= | & 75 11.28 Vi 0. 04 0.4 1000
10 | BRZ | & 76 11.28 Vs a3 0.3 1000
11| #RE | & 76 11.28 Vs F7 0.3 1000
12 | R=E | B 56 11.28 ) 0.1 0.8 1000

Hit: 12 A




AR “RE TEAR” HEEAE
XERE AR

BEEN: FEEakEABNESERET: BEEFER
e AT Y
e | mE A ER| T E| wy gy | BHEH

/%)

1| Tk | B | 44 | 10.27| & | 0.1 |0.5| 1000 7
> | HEX | & | 68 [10.27| & [ 0.2 |0.5| 1000 7©
3| ANE | & | 7111027 & | 0.1 (0.5 10007
4 | #ES | &£ | 56 |10.27| & | 0.2 [0.8] 1000 7©
5 | IRE | &£ | 82 |10.27| A& | 0.1 ]0.5| 1000 70
6 | K¥Z | B | 75 |10.27| &£ | 0.1]0.5| 1000 7T
T | BEZ | &£ | 68 |10.27| A& [0.15]0.5| 1000 7C
8 | #x= | &£ |72 110.27 | & | 0.2 0.5 1000 7
9o | HEZ | B | 49 |10.27 | & | 0.1 {0.6| 1000 7
0| FE& | B | 69 [10.27| £ 0.2 [0.6] 1000 G
1| BBE | & | 59 [10.27| & | 0.2 0.8 1000 75
12 | BRA¥E | &£ | 74 [10.27| & | 0.1 0.5 1000 75
13| BRxEVE | B | 61 [ 10.27| £ | 0.2 [0.8] 1000 75
4 | RFZ | &£ | 74 [10.27| £ | 0.3 [0.8] 1000 7T
15 | BEZ | &£ | 68 |10.27| £ | 0.1 [0.5| 1000 70
16 | EW | &£ | 68 | 10.27| & | 0.2 |0.5| 1000 75




1| EBZ | & | 68 | 10.27 | A 0.8| 1000 7©
18 | E&EHF | F | 76 [10.27 | &£ 0.8| 1000 7©
9 | EfEAHE | F | 68 | 10.27 | & 0.8 | 1000 7C
20 | BEX | &£ | 64 |10.27 | A 0.5| 1000 7©
21 | (RBZ | & | 64 | 10.27 | & 0.5| 1000 7©
22 | ZmugHE | F | 77 [10.27 | & 0.8| 1000 TG
23 | FEEG | & | 47 |10.27 | & 1 1000 7C
o4 | Ba¥ | &« | 74 |10.27| £ 0.8| 1000 7©
o5 | EXE | 4« | 64 | 10.27 | & 0.5| 1000 7o
% | MFEE | & | 17 |10.27| £ 0.8| 1000 7©
21 | AfEZE | & | 83 [10.27 | A 0.5| 1000 7T
28 | BE®R | & | 18 [10.27 | A& 1 1000 7C
20 | Bkw® | B | 72 |10.27 | A 0.5| 1000 7o
30 | AM= | F | 80 | 10.27 | & 0.8| 1000 7C
31 | BFZ | & | 63 | 10.27 | & 0.8| 1000 7©
32 | LA | B | 48 | 10.27 | A 1 1000 7
33 | £FE¥E | &£ | 65 |10.27 | & 0.8| 1000 7T
34 | EEA | & | 74 | 11.08 | A 0.8| 1000 JG
35 | FAFZ | &£ | 83 | 11.08 | A& 0.5| 1000 7T
36 | 82 | & | 72 | 11.08 | & 0.8| 1000 7©
3 | BER | & | 78 | 11.08 | & 0.8| 1000 7©
38 | BRI | & | 92 | 11.08 | A& 0.5| 1000 7G




39 | ERE= | &£ | 52 | 11.08 | & 1 1000 7T
10 | e | F | 70 [ 11.08 | A& 0.5| 1000 7©
“ | BExE | &£ | 67 | 11.08| & 0.8| 1000 7©
42 | EE=Z | &£ | 70 | 11.08 | & 0.8| 1000 7©
3| REFR | & | 75 | 11.08 | & 1 1000 TG
4 | TEE | & | 47 | 11.08 | & 1.2 1000 7©
45 | TEN | B | 71 [ 11.08 | A 0.8| 1000 7©
46 | ®mEE | & | 71 [ 11.08 | A 0.5| 1000 TG
a | AEE | 4| 74 | 11.08 | A& 0.8| 1000 7©
a8 | LR | F | 8 | 11.08 | A 0.8| 1000 7©
19 | 2?2 | F | 80 [11.08 | & 0.5| 1000 7T
5 | BE= | & | 64 | 11.08 | & 0.8| 1000 7C
51 | BI= | & | 76 | 11.08 | & 0.8| 1000 7©
52 | ff#A& | & | 53 | 11.08 | & 0.8| 1000 7©
55 | H= | & | 69 | 11.08 | & 0.5| 1000 7o
s | PREZ | & | 64 | 11.08 | & 0.8| 1000 7©
55 | REZ | & | 79 | 11.08 | A 1 1000 TG
56 | A2 | & | 80 | 11.08 | & 0.5| 1000 7T
57 | H5Z | &£ | 66 |11.08 | & 1 1000 7T
58 | BFHE | & | 70 [ 11.08 | A 0.8| 1000 TG
59 | R | B | 61 | 11.08 | & 0.8| 1000 7©
60 | ZHE | &« | 75 | 11.08 | & 0.5| 1000 7©




61 | H¥Z | &£ | 77 [11.08 | & 0.8 | 1000 7G
62 | HAZ | & | 85 [11.08 | & 0.8 | 1000 7C
63 | XA&FH | & | 69 | 11.08 | & 5 1000 TG
64 | B R | F | 63 |11.14 | & 0.8| 1000 TG
65 | LW | & | 41 [11.14 | & 1.2 1000 7©
66 | HEkth | & | 67 | 11.14 | A& 0.8 | 1000 7T
67 | ZHE | B | 68 |11.14 | & 0.8| 1000 7©
68 | BlA | F | 78 |11.14 | A 0.8| 1000 7T
69 | FAH= | & | 73 |11.14 | & 0.5| 1000 7o
0| BREE | &£ | 79 | 1114 | & 0.5| 1000 7©
| AFEZ | & | 66 | 11.14 | & 0.8| 1000 7C
2| X9 | F | 75 | 1114 | & 0.5| 1000 7T
B XXE | & | 82 |11.14 | £ 0.5| 1000 7o
M| tkEE | 5| 72 |11.14 | & 0.8| 1000 7C
B B | &£ | 66 |11.14| & 0.8| 1000 7©
6| mEE | & | 63 [ 1114 | A 0.8| 1000 7©
| AHAe | B |64 | 1114 | & 0.8| 1000 7C
| FETER | B | 44 | 1114 | & 1.2 1000 7©
9 | XX | B | 71 | 11.20 | & 0.5| 1000 7©
8o | mlkz | B | 91 [11.20 | A 0.5| 1000 7C
81 | ZRE | &£ | 70 | 11.20 | A& 0.8| 1000 7©
82 | FHEZR | & | 75 | 11.20 | A& 0.8| 1000 7©




83 | A5 | F | 84 [11.20 | & 0.5| 1000 7G
s | EHEH | 5 | 70 [11.20 | A 0.8 | 1000 7C
85 | XEA | F | 73 | 11.20 | & 0.5| 1000 7G
86 | ) = | & | 72 [11.20 | & 0.8| 1000 7T
87 | REAE | &£ | T4 | 11.20 | & 1 1000 7T
88 | IFHFE | B | 67 | 11.20 | & 1 1000 TG
89 | £EE | & | 74 | 11.20 | A& 0.8| 1000 7©
o0 | AHE | & | 66 | 11.20 | & 1 1000 7C
o1 | tkkE | § | 64 |11.20 | & 1 1000 7¢
2 | EFE | &« | 8 |[11.20 | A 0.8| 1000 7©
93 | FEZ | & | 71 |11.20 | A& 0.8| 1000 7T
94 | KFEE | & | 87 | 11.20 | & 0.5| 1000 7C
o5 | BEE | £ | 74 |11.20]| £ 0.8| 1000 7©
9% | EE | & | 67 | 11.20 | & 0.8| 1000 TG
or | Exkd | F | 64 [11.20 | A 0.8| 1000 7C
8 | kEE | F | 75 |11.20 | & 0.8| 1000 7C
99 | XFEE | & | 79 [11.20 | A 0.5| 1000 7©
100 | BkF#E | % | 60 | 11.20 | A 1 1000 TG




AR “RE TEAR” HEEAE
XERE AR

BERM: TEEREANENEE: EREHK ZWTARER

RA KA
F5 4 MR | F FAR B (Z£/ | KA 7 ®E &5
)
1 THH 5 64 2015/10/24 Vi 0.15 1.2 1000
2 ZER 7 82 2015/10/24 H FC/40cm | 0. 08 1000
3 SRS % 79 2015/10/24 H JeEE (+) [ 0.15 1000
4 Y YEs % 74 2015/10/24 I 0.1 0.3 1000
5 TERERE % 51 2015/10/24 +H 0.1 1.2 1000
6 fER 7 92 2015/10/24 H JE (+) 0.1 1000
7 XA % 76 2015/10/24 I 0.1 0.5 1000
8 MR R % 75 2015/10/24 I 0.1 0.4 1000
9 [ x© 79 2015/10/24 # o |0.07 0.2 1000
10 T B 7 76 2015/10/24 # o 10.05 0.3 1000
11 Yl £ 78 2015/10/24 +H 0.1 0.15 1000
12 Fi © 68 2015/10/24 +H 0.15 0.8 1000
13 B £ 64 2015/10/24 Hi FC/1M 0.3 1000
14 £ © 75 2015/10/24 Voo FC/1m 0.5 1000
15 ik T A S 75 2015/10/24 Vi 0.1 0.15 1000
16 TH= % 82 2015/10/24 Vi fa ¥/ 1M 0.3 1000
17 (ERER % 74 2015/10/24 V&l I 0.15 1000
18 b % 76 2015/10/24 # | FC/1M 0. 1000
19 b= % 73 2015/10/24 H 0.15 0.4 1000
20 RS 7 66 2015/10/24 I 0.2 L. 1000
21 BRI =) 59 2015/10/24 A ]0.15 1.0 1000
22 AR TT % 81 2015/10/24 fi 0.2 0.15 1000
23 HHER % 60 2015/10/24 +H 0.2 1.0 1000
24 ki u 73 2015/10/24 +H J I+ 0. 07 1000
25 kT2 S 63 2015/10/24 4+ | FC/2m 0.6 1000
26 FHE 7 74 2015/10/24 # | Fc/20eM 0.4 1000
27 HH A 4 % 71 2015/10/24 I 0.3 0.8 1000
28 XI5 7 73 2015/10/24 V&l 0.03 0.5 1000
29 A= 7 79 2015/10/24 Vi 0. 06 0.2 1000

HERA: EF

gk




AR “RE TEAR” HEEAE

XERE AR

ZHERAT . A B AR o R R 44 K FEAN T N R &R
4 \ HR A - A&

e ¥4 el ® F AR B /S AWRA 3 E B4
1 Fig & % 76 2015/10/30 V&l FC/30cm 0.4 1000
2 IS SN % 85 2015/10/30 Hi FC/1m 0.4 1000
3 R4 5|72 2015/10/30 Vel 0. 06 0.5 1000
4 =Rk s 61 2015/10/30 I CF/2M 0.2 1000
5 K75 S 68 2015/10/30 H FC/50cm 0.5 1000
6 v e LS 84 2015/10/30 v&l FC/60CM 0.2 1000
7 wEIE LS 80 2015/10/30 v&l 0.2 0.5 1000
8 ESHLYS) % 76 2015/10/30 i 0.2 0.4 1000
9 ST % 76 2015/10/30 Vi 0.12 0.5 1000
10 jkiz 5 % 80 2015/10/30 Vi 0. 04 0.4 1000
11 HH A5 % 79 2015/10/30 Vi 0.12 0.15 1000
12 B s 80 2015/10/30 Vi e+ 0.12 1000
13 XA % 81 2015/10/30 I 0. 06 0.4 1000
14 KA S 67 2015/10/30 I FC/60CM 0.4 1000
15 MiRA % 67 2015/10/30 H FC/1m 0.3 1000
16 k4 H % 74 2015/10/30 Vs I 0.8 1000
17 LA % 82 2015/10/30 H FC/1m 0.3 1000
18 BN S 81 2015/10/30 +H FC/60cm 0.4 1000
19 Fa L 70 2015/10/30 Voo 0.12 1.0 1000
20 705 7 81 2015/10/30 Vs 0. 05 0.15 1000
21 VTR % 73 2015/10/30 Vi 8%/ 1m 1.0 1000
22 | ES 7 59 2015/10/30 +H 0. 05 0.4 1000
23 TREEZ © 70 2015/10/30 H 0.25 0.4 1000
24 wEE % 78 2015/10/30 H 0. 06 0.4 1000
25 ik 7 63 2015/10/30 Vi 0.2 0.4 1000
26 JE TR % 5% 76 2015/10/30 Vi 0. 06 0.5 1000
27 B2 7 68 2015/10/30 bl 0.1 0.8 1000
28 A % 62 2015/10/30 Vi I 0.8 1000
29 2=l % 70 2015/10/30 V&l 0.1 0.3 1000

HxA:  FEWH




AR “RE TEAR” HEEAE
XERE AR

PR HE AL TR BRI AR e

TR PN

AR A RE
g 4 MR | FAR B (£ | Rw#A £ i
WA
/%)
1 A 22 % 84 2015/11/7 J& | FC/30CM 0.3 1000
2 Bl % 68 2015/11/7 e 0.15 0.5 1000
3 KEZ LS 65 2015/11/7 e ] 0.25 0.5 1000
4 X2 S 76 2015/11/7 #H |0.06 0.4 1000
5 ZERETE S 80 2015/11/7 | FBh/IRAT | 0. 12 1000
6 gk KA 7 84 2015/11/7 A 0.15 0.8 1000
7 FH 42 i 7 81 2015/11/7 | Fa 0.25 1000
8 735 S 74 2015/11/7 | B 0.3 1000
9 H A 7 88 2015/11/7 feo | e 0.25 1000
10 A4k 5 81 2015/11/7 o 0.15 0.6 1000
11 [ B3 « 76 2015/11/7 | e 0.8 1000
12 X1 Jik % 70 2015/11/7 o101 0. 1000
13 SES S S 72 2015/11/7 | faEk 0. 1000
14 PEFA MR % 76 2015/11/7 # | FC/30CM 0.25 1000
15 2=t 7 81 2015/11/7 A ]0.15 0.25 1000
16 A& 5% 81 2015/11/7 o101 0.6 1000
17 AR5 7 75 2015/11/7 o012 0. 25 1000
18 | 7 83 2015/11/7 feo | e+ 0.25 1000
19 T Ak S 69 2015/11/7 KE10.2 0.3 1000
20 X GiAE % 72 2015/11/7 KE10.2 0.5 1000
21 3| S 66 2015/11/7 KE10.2 0.6 1000
22 HRE % 65 2015/11/7 # |0.15 0.25 1000
23 EVAEN % 76 2015/11/7 A | FC/50CM 0. 05 1000
24 RER 7 78 2015/11/7 A1 0.06 0.8 1000
25 HEFS 2 -8 70 2015/11/7 Ao 0.12 0.5 1000
26 Fatt 5 62 2015/11/7 A | 0.05 1.2 1000
27 1 ot i 80 2015/11/7 /& | FC/30CM 0.1 1000
28 X458 7 55 2015/11/7 o 0.15 0.4 1000
29 F i % 80 2015/11/7 # o ]0.05 0.8 1000
30 G 7 77 2015/11/7 # | FC/30CM 0.2 1000
31 EISAE S 5% 71 2015/11/7 F10.06 0.2 1000
32 BIRTE 5% 71 2015/11/7 4 FC/1.5m 0.6 1000

RN EW 7

WCARHEM: 20154F 11 H 7 H




AR “RE TEAR” HEEAE
XERE AR

WA BT TR TR AR AR 4 2 BERE 42K SR T N ROEERE
o 4 ;ﬁ £ | FANE (f/’i) RATHLA *f“ 54
1 FiEsR | & | 72 2015/11/15 H 0.1 0.8 1000
2 MnE | B | 89 | 2015/11/15 H FE2L 0.6 1000
3 L&Al | & | 82 2015/11/15 Vi FC/10CM | 0.3 1000
4 M | Ao | T8 2015/11/15 I 0.1 0.3 1000
5 SH | o | 64 2015/11/15 4 FC/20CM | 0.6 1000
6 HES | &£ | 75 2015/11/15 = 0.2 0.5 1000
7 AR | | 80 2015/11/15 4 FC/60CM | 0.3 1000
8 XNRZE | B | 75 2015/11/15 s 0.1 0.8 1000
9 J& Bl 74 2015/11/15 I FC/1M 0.6 1000
10 B | | 80 2015/11/15 H 0.15 0.4 1000
WRNEWS R HEBA: 2015 411 A 15 H




